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Run 4470 triggerwise, sums: All

Entries: 4208517

Mean: 4151.0579 +/- 2.0429

Std Dev: 4190.9311 +/- 1.4445

Run 4470 triggerwise, sums: All
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Run 4470 triggerwise, sums: Beam OFF

Entries: 3092

Mean: 1008.5126 +/- 15.4439

Std Dev: 858.7714 +/- 10.9205

Run 4470 triggerwise, sums: Beam OFF
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Run 4470 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 1270999

Mean: 4640.2113 +/- 4.2249

Std Dev: 4763.0484 +/- 2.9874

Entries: 1270390

Mean: 4644.3572 +/- 4.2171

Std Dev: 4753.1672 +/- 2.9819

Run 4470 triggerwise, sums: Beam ON, Laser ON

0 10000 20000 30000 40000 50000
0

20

40

60

80

100

3
10×

Run 4470 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 779556

Mean: 3386.3438 +/- 3.2824

Std Dev: 2898.1495 +/- 2.3210

Entries: 779346

Mean: 3395.0900 +/- 3.2811

Std Dev: 2896.5576 +/- 2.3201

Run 4470 triggerwise, sums: Beam ON, Laser OFF
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